Included fasteners:

Next Pole Bracket PhaseOne 2xScrewMRXPZ  M6x8
E-no: 2700657 S-no: 3506323 2xScrew MRXPZ  Méx10
Assembly instructions

All electrical installation work must be carried out by an authorized
installer and meet the installation requirements in the country of use.

4 N
N\? ° 0 b
Mounting charger to the bracket Tl e
// 1. Prepare the bracket with screws (Méx8) to hook [j
= the charger. Adjust them until the charger fits steady. s

2.Hook the charger to the bracket. Fasten the charger with the
lower screws (M6x10).

& &

ool

E ‘f“

-
-

The electrical wiring

3. Pull enough cable out through the cable entry hole.

] 4. Ensure that the wiring is done so that the cables cannot be damaged.
Tighten the tension puller.

5. Connect the brackets grounding point to ground

Mounting the charging box |
6. Mount the bracket with the charger to the Pole. Use existing M6x20 0
flangescrew. i
7. Connect the charging box according to the charging box
manual and complete the installation.
When installing two brackets, use existing flange bolts and follow
step 1-7 again.

nex t reen Next Green AB www.nextgreen.se
Brudtallsvégen 14 info@nextgreen.se
g SE-792 32 MORA
SWEDEN



Medfédljande fastelement:

Next Pole Montageplat PhaseOne et Méx8 MRX PZ
E-nr:2700657 S-nr:3506323 2st  M6x10 MRX PZ
Monteringsanvisning

Allt elinstallationsarbete maste utféras av en auktoriserad installat6r
och uppfyllainstallationskraven i anvandningslandet.

4 N\
T Montera laddaren pé =i
° &
/g//" Montageplédt o |
1. SkruvaiMéx8 skruvarna sa att 3
laddboxen kan hdngas pa och sitter
stadigt.
2. Haka paladdboxen och skruva fast
laddaren med M6x10 skruvar.
SQ . Gl & ’ (j‘
M\A 9o o
N — J

=] Kabeldragningen

3. Tafram tillrackligt med kabel till laddboxen genom
kabelgenomforingen.

1 4. Var noga sa att kablen inte skadas eller kan komma
att skadas. Dra at férskruvningen.

5. Anslut montageplatens jordpunkt till jord.

o
4
Montera Montagepldat PhaseOne pda Next Pole —t= .=2“J
6. Skruva fast plattan med laddboxen pa Next Pole. Anvand Mé6x20 D i
flansskruv.
7.Kopplainladdaren enligt laddarens instruktioner.
Vid dubbelmontage, anvand befintliga flansskruvar och folj steg 1-7 igen.
.

Next Green AB www.nextgreen.se
next green Brudtallsvaigen 14 info@nextgreen.se

SE-792 32 MORA

SWEDEN




	Bild 1
	Bild 2

